> A
A & 0l & AF 2 E A A
20149 S0la LB H ME Al
2N FHZ AL
M HE2AZH (FHEZAlD)
el =P CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ZH S Al Dt 24,404,778 23,547,609 857,169
= 420,520
& 3,426,000
=2 130,000
< 3,567,074
s 16,861,184
HE2LAZH (FMTAID) 30,950 31,760 A810
Jl= &l 30,950 31,760 A810
Jl=dl 30,950 31,760 A810
201 Let24d] 22,310 20,960 1,350
01 At 22/l 19,790 18,760 1,030
Ogt=&H| 15,380
0.712MN2EEFY 100, 000& *21¢! 2,100
0.ARD101 & EMES 11,780,000 11,780
0.J1Et==EH| 1,500, 000& 1,500
OSH (BN AULRFA)
7,000 *2121+30 4,410
02 232gHl 2,520 2,200 320
Oz22= & HA 2,520
0.2HR3 120,000& * 21¢l 2,520
202 oddl 8,640 10,800 A 2,160
01 = LH o4 1l 8,640 10,800 A 2,160
ozgloitl (3534l)
180,000& = 4€tE « 12& 8,640
HYXXN2H(ZHMTAIDL) 4,200 4,200 0
FAEE2H 4,200 4,200 0
ol 2 Al 4,200 4,200 0
203 YR =&l 4,200 4,200 0
04 FN2ELRZLH| 4,200 4,200 0
O RA2IEERFA 350,000& »12& 4,200
ANEZH 2435t 111,000 200,460 A 89,460
< 6,260
e 104,740
NS BN st 103,800 190, 860 A 87,060
< 1,060
s 102,740
ANAFH gdst =8 101,680 188,460 A 86,780
201 ¢er24] 19,480 12,500 6,980
01 At 2t 2l 16,480 9,500 6,980
OYer+ g 500




M ZHEAD
3 NSFH gds
e NGB HEyds

- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
0.3AEHAHUE EE2=2 oM
1,000 *5000H 500
Oogstdy| 10,800
O.LHDEAE M 120 90, 0000H 10,800
OZ20SENMEE Eha Lt 70,000& ~18¢! 1,260
OZ2H(KNHEA LX) 7,000 «821+70L 3,920
03 A2 E H| 3,000 3,000 0
OYAELUQ| ZBI| MHAHE Y <!
00,000& *23| 3,000
202 04| 19,200 12,960 6,240
01 2L I 19,200 12,960 6,240
OXNEHME L0 | 200,000 8021 x12& 19,200
203 € R F=&d| 2,000 2,000 0
03 AIZH =X 2 F XY 2,000 2,000 0
OXEBHEds=& 2,000,000& 2,000
301 et A= 1,000 1,000 0
09 HAIAHI EAZ 1,000 1,000 0
OXEHMEHds =& 203 <t
20,0003 2501 x2 3| 1,000
308 XX SHHSOIH 60,000 160,000 A 100,000
08 JIEIRE 3 60,000 160,000 A 100,000
ZSAIGO XU HEINY XA THARAEE
AP (B Z= XA THAHAIE ) 60,000,000& 60,000
HAEHAMLR 2,120 2,400 A 280
= 1,060
= 1,060
201 et 2,120 2,400 A 280
& 1,060
= 1,060
01 AR 22l ] 2,120 2,400 A 280
HAEUAMNDSE A2 & DHF2L
2,120,000 2,120
o= 1,060
= 1,060
HEZ0 A=Y 2,400 4,800 A 2,400
=} 400
= 2,000
SHSHLEAS X 2,400 4,800 A 2,400
& 400
= 2,000
402 SI2v 20| ™ 2,400 4,800 N 2,400
& 400
= 2,000

N




DM EAD
B X AR B
o WEDOMATY

[ ]

(o
SN ED B (3H) - MEAY - BAS %@i HD=2
01 Q1228 X 2,400 4,800 A2,400
OZ20EMNLEAHA(IMA) 2,400,000& 2,400
= 400
= 2,000
AHIXEE L ZSor2e] 4,800 4,800 0
=} 4,800
T SIIHZ2LEHRIERYE 4,800 4,800 0
4,800
101 e1214| 4,800 4,800 0
& 4,800
04 JIZtHI22XNSESES 4,800 4,800 0
OESI2LIHE olAHd]|
200,000 x12& x20! 4,800
=} 4,800
X otd & B2 A 205,949 136, 390 69,559
= 64,298
& 14,937
- 126,714
X &e & =SoIeHd 107,906 82,347 25,559
= 64,298
& 5,400
= 38,208
X & Sor2tel 9,533 12,633 A 3,100
101 Q121 H] 6,763 6,763 0
04 JI2ZtHIZ22NEE S 6,763 6,763 0
OHEINEIZA o182 95,360& 8 763
OSIIR2LIEHEH o] 250,000 #2021 x12& 6,000
201 LBt ]| 1,770 4,870 A 3,100
01 AP 22| H| 1,770 4,870 A 3,100
Ogbt4=24| 1,070
0.8 SEAHA =2
2,000 x40 2~ %10L *13] 800
0.0lUXl & Sotael 22 oM
270 x2= x5000H 270
o2dx4 700
0.2l g EHALE
70,000& x10Q! 13| 700
203 SR F & 1,000 1,000 0
03 AIZH =X 2= X H| 1,000 1,000 0
OMURI =S o 2Itarel AIMER
1,000,000 1,000
HUE X AIE IS A 98,373 69,714 28,659
= 64,298
o 5,400

w




DB HE AL
oA eE 2 Bs N
S X 2el ¥ SOty

- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Ei HR=2
= 28,675
403 XX SRS K20 & 98,373 69,714 28,659
= 64,298
& 5,400
= 28,675
02 BII2S0CHeCH& AL I 98,373 69,714 28,659
O MASEEZS JIAANEINSAS
219,000 x367 0t 80,373
= 64,298
= 16,075
O MASEE EIAEINSAS
200,000 x900}+ 18,000
& 5,400
= 12,600
MUK ES A 98,043 54,043 44,000
& 9,537
= 88,506
2= 1002ts E2AFY 54,043 54,043 0
& 9,537
= 44 506
402 SI2v X201 & 54,043 54,043 0
& 9,537
= 44 506
01 QI2t X2 X 54,043 54,043 0
O E1002tS ES AL (35013)
54,043,000& 54,043
& 9,537
= 44 506
MASEES JIAEOIDN ESAHY 44,000 0 44,000
401 AlEHIZL £ 0HY| 44,000 0 44,000
01 Al&H| 44,000 0 44,000
O MAEZ JIAEODN BE=3AY
55,000 «8007J+ + 44,000
SANE2H 22| 1,059,375 535,651 523,724
2 836,000
= 223,375
HMSAE2AZ2H 1,059,375 535,651 523,724
2 836,000
= 223,375
HNSAEF X 22 223,375 34,151 189,224
101 e1214| 3,335 3,111 224
04 JI2ZtHIZ22NEES 3,335 3,111 224
OFEANF-HACSE o
41,6803 x121 %80 3,335
201 et d| 5,440 6,440 A 1,000




SH: ZHEAD
Ha: HEAZ2YBR

& dSAEF222E (&)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
02 2324l 5,440 6,440 A 1,000
O332= € HAl 1,440
0.ANESEA HIANER
15,0003 #8I A+ 123 1,440
OA&EHl s Xl 4,000
0.8SANERXE=S 400, 0003 54 2 2,000
0O.ANESEA RS 400,000 54 2 2,000
301 et d s 24,600 24,600 0
NJIEEd=s 24,600 24,600 0
OB UEAIZ 2l MdHEH 24,600
0.SdAE 450,000& x12& 5,400
0.8 M, G& SHAE
400,000 4 =128 19,200
401 Al HIZ 201 190,000 0 190,000
01 A& HI 188,920 0 188,920
OMZAIE OtAZ B AH(2,000m)
148,920,000 148,920
OUFANE ST FxHES AMLEHI
20,000,000 24! 40,000
03 AlE 2 THHI 1,080 0 1,080
OMZTAIE OtAE ZHIAL 204
150,000,000 *0.72% 1,080
SAAE =XE ZHAY 636,000 0 636,000
= 636,000
401 AIEHI L 20 636,000 0 636,000
= 636,000
01 A& HI 632,184 0 632,184
OHMAE =X =4 632, 184,000& 632,184
& 632,184
03 A& S THHI 3,816 0 3,816
OE4AIE =X X4 R0l
1,060,000, 000& 0. 36% 3,816
& 3,816
MEANE AZHEHE AZSA 200,000 0 200,000
& 200,000
401 A& HIZ 201 I 200,000 0 200,000
& 200,000
01 A& HI 197,595 0 197,595
OLFAZE ALY A= 197,595,000 197,595
= 197,595
03 Al S THHI 2,405 0 2,405
OLFEAE AZLHEMME MFES A 20U
334,000,000 *0.72% 2,405
= 2,405




SN ZBHMEADL
Hu: 18 5% 2 oF, 22X SN

ol LAIQIE AlQiTHE CER-ED

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

i
2m

ng 58 ¢ o8, 224 =085 592,214 890,920 N 298,706
116,862
130,000
46,759
298,593

A HOAD W

o
[
$0
rr
[
e
2
Ji

262,214 460,920 A 198,706
116,862
46,759
98,593

Mo R

paa
Bl*)
0
O

I Xl AL 233,724 282,000 N48,276
116,862
35,059

81,803

e

A

401 AIEHIZ 2 I 203,724 230,000 N26,276
101,862

30,559
71,303

HH A

01 A& Hl 203,724 230,000 N26,276
OXNSZSSHL Xl AL 203,724,000 203,724

101,862
30,559
71,303

HH A

402 212t X201 & 30,000 52,000 A 22,000
15,000
4,500
10,500

U AT

30,000 52,000 A 22,000
30,000,000& =100 & 30,000

15,000
4,500
10,500

O
=]
o
S

2
o
|-\_|
]
i
© H
B

Ho
0x
>
e

Mo H

e
>
o
x
o
[o
02

23,400 23,400 0

11,700
11,700

EUNL

101 1Al 23,400 23,400 0

11,700
11,700

EURE

04 It Z22XNSE+

OUX2IHE e AEA

23,400,000

M

23,400
23,400

11,700
11,700

23,400

5,090

10,720

A5,630

5,090

6,400

A 1,310

2,000& =500 04

3,090
1,000

6,400

A 3,310




SN ZBHMEADL
Hu: 18 5% 2 oF, 22X SN

Sl HAds A CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OXNGZSHLESZS22AL X & A M=
2,500& 50004 1,250
o=2g=¢ 70,0003 x6H #23] 840
03 A2 S HI 2,000 0 2,000
OATE MELSIAAMN BN
2,000,000& =13l 2,000
SSZE2AMY 330,000 430,000 100,000
= 130,000
[ia 200,000
ANHESS2 2 A 330,000 430,000 100,000
& 130,000
s 200,000
401 AIEHI L 2 CHYI 330,000 430,000 100,000
& 130,000
s 200,000
01 A& HI 330,000 430,000 100,000
OZ23222 Mg 330,000,000& 330,000
& 130,000
i 200,000
EXsX 2435t 930,620 1,476,770 A 546,150
= 200,000
< 372,810
s 357,810
SURX NE2d 930,620 1,476,770 A 546,150
= 200,000
< 372,810
s 357,810
SEXSX 43t JIEHAE LA S 250,000 300,000 50,000
401 AIEHI L 20HEI 250,000 300,000 250,000
01 A& tl 248,200 297,840 A 49,640
OSHICY FX JIEAIE =4 ALY
248,200,000& 14 248,200
03 Al 2 THHI 1,800 2,160 A 360
OH4ICY X JIBAIE ZEAMY S
250,000,000& *0.72% 1,800
EXSX NE2d 5,000 7,850 A 2,850
201 et 1,000 3,850 A 2,850
01 At 2teltl 1,000 2,500 A 1,500
OFXsX 2= M= 1,000,000& *13] 1,000
202 O4dl 2,000 2,000 0
01 = LH 4 Hi 2,000 2,000 0
ENGERFAMH(SY, =, IIEH
100,000& #2021 103l 2,000




2N

Z M Al

g ENRI 2435
@42 EURI NFA2S (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
203 R =&t 1,000 1,000 0
03 AIBF=XH S =ZH| 1,000 1,000 0
OFXsINHEFL 1,000,000 1,000
301 et A= 1,000 1,000 0
09 EHALMHIZB &S 1,000 1,000 0
O & & EXNRI dH3 &4
1,000,000 1,000
EHsXNIY 223 N 650,000 0 650,000
= 200,000
< 360,000
[ia 90,000
307 21201 A 650,000 0 650,000
= 200,000
< 360,000
i 90,000
02 P AEXS 650,000 0 650,000
OFXANETXNF =01 EX=3XE
400,000, 000 101 & Xl 400,000
= 320,000
s 80,000
Ods4lIY EX=SXE
250,000, 000& =101 & Xl 250,000
= 200,000
< 40,000
s 10,000
FHJgnEEEZ XA 25,620 20,000 5,620
< 12,810
i 12,810
307 21201 A 25,620 20,000 5,620
< 12,810
e 12,810
02 B AEXS 25,620 20,000 5,620
OFYIYAFNELH BEXSKE
25,620,000& 25,620
< 12,810
[ia 12,810
FHUE L FAHEFMA 8,930,050 10,273,018 A 1,342,968
= 39,360
< 56,308
[ 8,834,382
SHE =HEZME 8,930,050 10,273,018 A 1,342,968
= 39,360
< 56,308
e 8,834,382
NN A=HH MHIAMS 121,650 16,518 105,132
101 124 dl 1,600 1,520 80




M ZHEAD

g FHAE & FHSIMA
2 sHE FHEZME (&)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
04 JI2ZtHZ22HEE =+ 1,600 1,520 80
OXslot23 e A2 (0FAIARY)
100, 000& #2021 «6 1,200
OXtslit23d Al (FHelore)
50,0003 191 82 400
201 L4l 5,650 5,638 12
01 AFR2t2lHl 4,930 4,930 0
SHEIES- 2] 800
0.A42A2 J=RE MTHE
120,000& »5& 600
0.4 Lur22dl (g7, UXRR)
200,000 200
OSYH(EXNFEHARZIA) 7,000 +62! 704! 2,940
o2g+¢ 1,190
0.A=RAJ A& 70,000& 102! 700
0.2t A 70,000& »7¢! 490
02 2324l 720 708 12
O332= % HAl 720
0.%t30tS &IIR3 60,000& 122 720
202 044l 14,400 9,360 5,040
01 SLHOYI 14,400 9,360 5,040
ENF=SHH 2 =804 200,000& »621 «12& 14,400
401 AIEHI L 20HEI 100,000 0 100,000
01 A& HI 99,100 0 99,100
OXcdls& FUAIE EH 99,100, 000& 99,100
03 A& S THHI 900 0 900
OXolsd FUHAE ZdHl 20l
100,000, 000& *0.9% 900
BIEEHI ALY 45,000 59,500 A 14,500
=) 13,500
= 31,500
402 2I2tXt=01& 45,000 59,500 A 14,500
< 13,500
= 31,500
01 RIZEAI2E X 45,000 59,500 A 14,500
OB & FHIALY 45,000,000& 45,000
< 13,500
[ia 31,500
TEME KA 70,000 70,000 0
=) 21,000
a 49,000
402 212t X201 & 70,000 70,000 0
=) 21,000




2N

X{ XH -
S =

Z M Al

g@el: soE 2= (&2 &H)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 49,000
01 RIZERt 22X 70,000 70,000 0
Ok= S XNSHEAY
10,000,000 * 14 *50% 70,000
< 21,000
[ia 49,000
HAFEANETLELOHIHERX 8,520,000 9,850,000 A 1,330,000
401 Al HIZ 201 8] 640,000 0 640,000
01 A& HI 640,000 0 640,000
OO E=Y =2 FHI ALY 640,000,000 640,000
405 XtAtE SHI 7,880,000 9,850,000 A 1,970,000
01 At ESFH S 7,880,000 9,850,000 A 1,970,000
OOIIIEMY &3 XI= 19,700,000, 000 *40% 7,880,000
JINE === A= FHIAY 55,000 110,200 A55,200
401 Al HI R 201 I 55,000 110,200 A 55,200
01 A& HI 55,000 109,406 A 54,406
OJMANE =222 A2 ZHAME
5,000,000 *x11= 55,000
SdI0IE ™Mel XA 98,400 94,000 4,400
= 39,360
< 11,808
s 47,232
403 A X EHHSH20IA 98,400 94,000 4,400
= 39,360
< 11,808
s 47,232
02 S| 2 S0il CH &HCH & A B 98,400 94,000 4,400
O Zd0lE ™MXI AL 2,400,000& 415 98,400
= 39,360
< 11,808
[ia 47,232
st 2 N 20,000 20,000 0
< 10,000
s 10,000
402 RIZER20l A 20,000 20,000 0
< 10,000
s 10,000
01 RIZERt2E X 20,000 20,000 0
Og=dls 8xX3 20,000,000& 1= 20,000
< 10,000
s 10,000
S A E 2e] 2,429,200 1,129,030 1,300,170
= 1,000,000
[ia 1,429,200




fA:H

3y =

ool &

M & Al
Al & 2 el
AAHE 2 ARE200E

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
TCAAHE L ABCZ2IL 850,000 1,100,000 A 250,000
MNEHZZE|HE A 500,000 200,000 300,000
401 AlEHIZ 2 0HY| 500,000 0 500,000
01 Al&H| 496,400 0 496,400
OMEZ 2| HE A 496,400,000 496,400
03 Al 20| 3,600 0 3,600
ONEZZe|HE HEH 20l
500,000,000 *0.72% 3,600
MEHAOISAYEZIME 300,000 100,000 200,000
401 AlEHIZL 2 0HY| 300,000 100,000 200,000
01 Al&H| 297,840 99,280 198,560
OMZE HADIS AEZ2I& Z2AHL=126m, B=6
.0m) 297,840,000 297,840
03 Al 20| 2,160 720 1,440
OM=E HAMOIES ALEZIHE B AL 20|
300,000,000 «0.72% 2,160
MESEOSZ A 50,000 0 50,000
401 AlEHIZL £ 0HY| 50,000 0 50,000
01 Al&H| 50,000 0 50,000
OMZSIE0ST2NE dHE2A
50,000,000& 50,000
TAHE gRFX 29,200 29,030 170
SCANHEGEERE2Y 29,200 29,030 170
201 £Bt2Ad| 12,000 11,230 770
01 AP 2t 2| bl 12,000 11,230 770
OZAHERARS EFAHLH 70,0002 x18Q2!1 x4 3| 5,040
OSHHI(TAHELR2=E) 70002 *x421x70L 1,960
oseg=21n= 1,000,000 x53] 5,000
202 04| 7,200 7,800 A 600
01 2L HI 7,200 7,800 A 600
OZANHEE DL L0 Y 150,000 4021 x 12& 7,200
308 MXISHMSOIA 10,000 10,000 0
08 JIEtEE =2 10,000 10,000 0
OQZAst 2SS AME ALY (3EX})
10,000,000 10,000
2N 1,550,000 0 1,550,000
= 1,000,000
= 550,000
dnsae=29y 100,000 0 100,000
401 AlEHIZL £ 0HY| 100,000 0 100,000




M ZHEAD
M ZTAHE 2L

chel: 2oeae CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 100,000 0 100,000
OXNEAANN E 208 ZXAS
100,000, 000& 100,000
SHUASANEEI AT LAY 1,300,000 0 1,300,000
< 1,000,000
i 300,000
401 A& HIZ 201 Y] 1,300,000 0 1,300,000
< 1,000,000
i 300,000
01 A& HI 1,295,320 0 1,295,320
OStSSLHESATAIZLAY
1,295,320,000& 1,295,320
< 995,320
i 300,000
03 Al S THHI 4,680 0 4,680
OSteSAMUNE ST AZTLEAY SO
1,300,000, 000& *0. 36% 4,680
< 4,680
ZHEHOIOLS 2 Hel -8 ALY 150,000 0 150,000
401 A& HIZ 201 Y] 150,000 0 150,000
01 A& HI 150,000 0 150,000
OO0l OS2 Hel LAY
150,000, 000& 150,000
SAORE 8,268,470 3,878,640 4,389,830
& 2,590,000
< 2,070,000
s 3,608,470
SHAMKASE ZH ALY 3,720,000 0 3,720,000
= 2,590,000
< 370,000
s 760,000
AOEATHAI St EHI AL 3,031,429 0 3,031,429
= 2,122,000
< 303,143
s 606,286
401 AIEHI L 2CHEI 3,031,429 0 3,031,429
= 2,122,000
< 303,143
[ia 606,286
01 A& Bl 3,020,515 0 3,020,515
OtItHATHAI A S E ZHIALY
3,020,515,000& 3,020,515
& 2,111,086
= 303,143
s 606,286
03 AlE 2 THHI 10,914 0 10,914




M ZHEAD
. T AONY

©?: SHATNXHSEZHH ALY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ot tHATHAI A SE ZHIALY F0HbI
3,031,429,000& *0.36% 10,914
& 10,914
SGHHATNXN A SEEHHI ALY 668,571 0 668,571
& 468,000
= 66,857
fia 133,714
401 Al HIZ 2018 668,571 0 668,571
& 468,000
s 66,857
s 133,714
01 A& HI 664,359 0 664,359
OHLHATHAI A SE ZHIALY 664,359,000 664,359
= 463,788
< 66,857
s 133,714
03 Al 2 THHI 4,212 0 4,212
OHdHATHA S EHIAMY R0l
668,571,000& *0.63% 4,212
= 4,212
SHAMAESSEH oblHE =8 Y 20,000 0 20,000
207 RO 20,000 0 20,000
01 A3l 20,000 0 20,000
OSHATHXN ZSEIHIANY ZE &§=89
20,000, 000& 20,000
NEItsst SAIIgEES 4,148,470 3,378,640 769,830
< 1,700,000
i 2,448,470
SANTHAZSE FHI 354,800 0 354,800
301 et d = 4,800 0 4,800
09 AL HI B &S 4,800 0 4,800
OEANXNHBSE SFEH & EMAZH X
30,000& 402 *43| 4,800
401 Al HIZ 201 8] 350,000 0 350,000
01 A& HI 348,920 0 348,920
O+=HESJIAFHIHIALY 48,920,000 48,920
OetiISS/LF=AE LS AL 300,000,000 300,000
03 Al SR THHI 1,080 0 1,080
OAl& 2| 150,000,000& *0.72% 1,080
SAAHEESZHA 370,000 100,000 270,000
401 AIEHI L 2 CHYI 370,000 100,000 270,000
01 A& HI 367,336 99,280 268,056




2N
AN

el

X ZH
S =

Z M Al

AL

ANEIss TADIBIEY

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OANEZANHEEZZ(AZ2-345 M &A1)
a3 A 197,336,000 197,336
OUFESANAHEEZ (AZ3-208H)INE S A
100,000, 000& 100,000
OEX 7 HE A 70,000,000 70,000
03 Al 20 HI 2,664 720 1,944
OAIZ S THHI 370,000,000& *0.72% 2,664
SAHEANERKE 600,000 200,000 400,000
401 Al HI & 28I 600,000 200,000 400,000
01 A& HI 598,560 198,560 400,000
OHAU=SZHZE LI A 198,560, 000 198,560
OZAHEANERKNE =S A 200,000, 000& 200,000
OFXNFANESANE=Z At 200,000, 000& 200,000
03 AIE 2 0H bl 1,440 1,440 0
OAl& 2| 200,000,000& *0.72% 1,440
SANNLHRFA 23,670 22,950 720
201 et I H| 18,270 8,270 0
01 Ak 2reltl 1,470 1,470 0
OSZHI(ZTANLLRFX) 7,000& *32!+70L 1,470
02 =224l 16,800 16,800 0
OMMzZU= 16,800
0.EANHEEZIZS MIlE
200,000& x12& 2,400
0.s8t0tsE2&A &JI= 200,000& x12& 2,400
0.8'0t82& == 200,000 122 2,400
0.Z23¢2&d &Iz 200,000& x12& 2,400
0.=HAEZRA dII=z 200,000& 128 2,400
0.=HEZEA == 200,000& x12& 2,400
0.24Z2& &II= 200,000& 128 2,400
202 oddl 5,400 4,680 720
01 = LH o4 1l 5,400 4,680 720
OZANEHLH MY 150,000& =321 »12& 5,400
SHEAHNECR(AR33I5H)HLBA 1,000,000 0 1,000,000
= 500,000
s 500,000
401 A& BIZ 201 8I 1,000,000 0 1,000,000
< 500,000
s 500,000
01 A& HI 992,800 0 992,800
OSHMZANAHECZ2(A23-3156)IHE S A
992,800,000 992,800
< 492,800




M ZHEAD
. T AONY

Sl XASHIHsE TAJIgEE

AL

[ui} =3

2 S 4
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
o 500,000
03 Al S THHI 7,200 0 7,200
OSHESANHEEZ (AZ3-31SH)MNESA Al
=Rl 1,000,000, 000& *0.72% 7,200
< 7,200
AETAY HAHBZ ALY 1,800,000 0 1,800,000
< 1,200,000
e 600,000
401 Al&HI & 28I 1,800,000 0 1,800,000
< 1,200,000
= 600,000
01 A& HI 1,793,520 0 1,793,520
Odld T HAZ AL 1,793,520,000& 1,793,520
< 1,195,680
s 597,840
03 Al 20 HI 6,480 0 6,480
OMLZLY AZZ ALY R0
1,800,000, 000& *0.36% 6,480
< 4,320
[ia 2,160
SANY S5 =2 400,000 100,000 300,000
2ZHUIAY (BERAEA) 400,000 100,000 300,000
401 Al BIZ 2018 400,000 100,000 300,000
01 A& HI 397,120 99,280 297,840
ORcl8RNZAI|BHEHI ALY 397,120,000& 397,120
03 AIE 2 0HHI 2,880 720 2,160
OAIE =2l 400,000,000 *0.72% 2,880
NS (FHZ AL 1,842,750 3,090,770 A 1,248,020
HEAHHK = 1,842,750 3,090,770 A 1,248,020
sSaJgsdIlas 88 571,550 477,370 94,180
701 JIEtSI AN ES 571,550 477,370 94,180
01 JIEtSI HEES 571,550 477,370 94,180
Os2JY SHIISSEELEIYNHN HES
571,550,000& 571,550
S3SHAZEAMNLEES 1,271,200 2,613,400 A 1,342,200
701 JIEtSI HNES 1,271,200 2,613,400 A 1,342,200
01 JIEtSI HEES 1,271,200 2,613,400 A 1,342,200
OUUHXELSHIN BE2
1,271,200,000& 1,271,200




